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In a trial balance, which one of the following items would be correctly shown
as a debit balance?

A Bank overdraft

B Discount received
C Returns inwards
D Returns outwards

¥’ éva 160L0y10, TO10 OO TO TOPAKAT® oToLyEin umopel opOd va eppaviotel
G YPEDOTIKO VITOAOITO;

A [opazpafnype Tparelog
B Exntooeig Aappavopeveg
r Emotpopég [oinoewv

A Emiotpopéc Ayopav

A van costing £8000 is sold for £500 after 5 years’ use.

The provision for depreciation account relating to the van shows a credit
balance of £6000.

This means that, on the sale of the van, there is a

A loss of £1500
B profit of £1500
C profit of £7500
D loss of £7500

"Eva. avtokivnto kéotioe £8000 kot movAndnke yio £500 petd amod 5 ypovia
xpfione.

O Mopog amocfecHévio avtokivnta mov oyetileTon e TO 0VTOKIVITO aVTO
delyvel motmTikd vorouro £6000.

Av16 onuaivel 0T, LE TNV TOANGT TOL AVTOKIVIITOV, VITAPYEL:

A Cné £1500
B Kképdog £1500
r Kképdog £7500
A O £7500

A machine for use in the factory was purchased for £10000.

£500 was paid to transport the machine to the factory.

A repair costing £100 was made to the machine 3 weeks after it began
producing.

The amount for the machine to be shown in the balance sheet should be

A £10000
B £10100



C £10500
D £10600

‘Eva, umydvnua ayopdotnke £10000 yio va ypnoyomoindei o€ epyostdoto.
£500 TAnpodNKav Yio T HETOPOPA TOV UNYUVAOTOS GTO EPYOCTAGIO.

Mo emdopbmon kootice £100, Tov £yva 3 efSOUAdES LETA TTOV APYLICE VA
Aettovpyel To punydvnua.

H a&ila tov unyovipatog tov o eppavictel otov Icoloyioud o givar

A £10000
B £10100
I £10500
A £10600

Direct materials + Direct labours + Direct Expenses + Factory overheads
equals:

A Prime cost

B Total cost

C Variable cost
D Production cost

Apeoa YAwka + Apeco Epyotikd + Apeoa 'E€oda + I'evikd Biopmyavika
"E€oda 100bvTan pe:

A Apywcd Kdotog

B Yuvolkd Kootog

r Mertafpinto Kootog
A Koéotog [Mapaymyng

A, B and C are in Partnership but have not drawn up a Partnership Agreement.
At the end of their financial year how should profit and losses be shared?

A In proportion to the amount of capital invested.
B By payment of a dividend.

C Equally.

D Only to partners active in the business.

Ot A, B xon I etvan cuvetaipot o€ mpocwmikn etaipeio aAld dev £xovv
GLVTAEEL KATAOTATIKO. ZTO TELOG TOV AOYIGTIKOD £T0VG TMG Ba popdlovron
T KEPOM Ko TG CNUIES;

AvdLoya pe T0 T0GH TOL KEPAANIOV TOV EMEVOLGOV.

Me v TAnpoun pepiopatog.

E&icov.

Mo6vo 6TOVG GLVETAIPOVS TOV dPACTIPLOTOIOVVTOL GTNV ENLXEIPT|ON.
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The following information relates to a firm’s trading during the month of June.

Gross Profit for the month £35000
Expenses for the month £18000
Net profit for the month equals 17% of the sales for the month

The firm’s cost of sales for the month of June is:

A £52000
B £53000
C £65000
D £100000

O1 TopakdT® TANPOPOPIES APOPOVV TIV EUTOPIKOTITO LIOG ETLYEIPT|OTG KOTA
) Sdpkela Tov punvog lovviov.

M1kt k€pdog Tov pnva £35000

"E€oda tov pnva £18000

KaBapd képdog tov punva oovton pe 17% twv toincemv Tov
pva

To k6oT0C TOACEWV TNG EMyElpnoNns Yo To punva lovvio sivou:

A £52000
B £53000
I £65000
A £100000

Which of the following is calculated in a manufacturing a/c?

A The total production costs paid during an accounting period.

B The total cost of goods produced during an accounting period.

C The production cost of goods completed during an accounting period.
D The gross profit on goods sold during an accounting period.

[Toto omd o TapakdTe VToloyileTol 6 Eva AOYOPLOGHO TOPUY®YNG;

A To ovvolo TV e£60mV Tapay®YNG TOL TANPOOTNKAY KOTA TN SLIPKEL
NG AOYIGTIKNG TEPLOSOV.

B To cvvolMkd KOGTOG TV TaPAYHEVTOV TPOTOVTOV KOTA TN SLAPKELL
NG AOYIGTIKNG TEPLOSOV.

r To k66TOC TAPAYWYNG TOV TPOIOVIMV TOV OAOKANPDOTKE N
KOTOOKELT] TOVG KOTA T S1APKELN TG AOYIOTIKNG TEPIOSOV.

A To pktd k€pdog amod o TPoidvTe TOL TOVANONKAV KaTd TN d1dpKeln

NG AOYIGTIKNG TEPLOSOV.




Which of the following costs should be included in the calculation of “prime
cost” in a manufacturing a/c?

A

B

C
D

The cost of transporting raw materials from a supplier’s premises, paid
by the firm.

The wages of factory workers wholly engaged in machine
maintenance.

The depreciation of lorries used for deliveries to customers.

The cost of indirect production materials.

[Too amod ta Topakdto K66t Ba Tpémel va cuumeptAneBel otov VITOAOYIGUO
Tov “Apykod Kootovg” 67 éva Aoyapraoud Topaywoyngs;

A

B

To K6GTOG HETOPOPAS TOV TPMOTOV VADV Ad TIC amodnKeg Tov
mpoundevtn, Tov Papvvel v emyeipnon.

Ta nuepopictha twv epyalopévev 6TO EpYOCTAGIO OMOKAEIGTIKA
OTOGYOAOVUEVMOV GTI] GLUVTIPNON TOV UNYOVILATOV.

Tnv andcoPeon TOV AVTOKIVATOV TOL (PNCULOTOLOVVTOL Y10 LETOPOPA
Ko TapAd00T| GTOVG TEAATEG.

To KOGTOC TOV EUUECOV VAIKDYV TAPUYDYNG.

The following costs were incurred by a manufacturer of cut glass during a

year.
£
Raw material costs 250000
Labour costs:
Glass blowers 100000
Maintenance staff 10000
Administration staff 20000
Cost of hiring equipment used in crystal production 12000
Heating and lighting costs 21000

The prime cost for the year was:

wl@Nvelies

£350000
£362000
£372000
£413000



To mopakdto k6ot emPoapivovy pia fropunyavia eneéepyociog yooMov KoTd
T S1dpKeLn. evOg £TOVC.

£
Koot [potov YAdv 250000
Koom epyaociac:

Kotookevaotég yoolmv 100000

[Ipocwmnikd cuvtipnong 10000

[Mpocwmikd droiknong 20000
Koo10g evotkiov yio ) ypnion e£0mAIGHOD 6TV

KOTOOKELT] KPUOTOAA®Y 12000

Koo yia 0éppaven kot potiopud 21000

To apywd k6GTOC TOV £TOVG EIvaL:

£350000
£362000
£372000
£413000
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10.

10.

A partnership ...

A must be formed by deed

B must be formed by agreement in writing
C may be formed by verbal agreement

D None of the above

Mo tpocmmikn etalpeia ...

TPENEL VO, 1OPVETAL LE CVVTAEN KOTOGTATIKOD
TPENEL VO, LOPVETAL LE EYYPOPT] GUUPDVIO
umopel va 10pubel e TPOPOPIKY CLUE®VI
KOVEVO 0O TOL 7O TTAVE®
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11.

11.

In order for the individual partners’ capital to remain fixed, their respective
shares of profits must be ...

A debited to their capital accounts

B credited to their capital accounts
C debited to their current accounts
D credited to their current accounts

[Mo vo prop€couy Ta KEPAAO1O TV GUVETAIPOV Va Topapeivouy atabepd, Ta
avtioTolyo Lepidla KepOMV TPENEL VA ...

1Pe®BOVV 6TOVG AOY/GHOVS KEPAAAIWOV TOVG
moT®HoVV 6TOVG AOY/GHOVE KEPAAMI®MY TOVG
1PE®BOVV GTOVG TPEYOVUEVOLG AOY/GLOVG TOVG
moT®HOVV GTOVG TPEYOVUEVOLS A0Y/GLOVS TOVG
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12. Jack and Clark, the only two partners in a firm, invested capital of £20000 and
£30000 respectively and agreed their entitlements to be:
Jack Clark
Annual salary £18000 £22000
Interest on capital (per annum) 10% 10%
Share of remaining profit or loss 40% 60%
If the profit for the year was £40000, what share would be debited/credited to
Clark’s current account?
A Nil
B £3000 Debit
C £22000 Credit
D £24000 Credit
12. O Jack kar o Clark, gtvar o1 pdévor cuvéraipot e pia extyeipnon, mov
emévdvoav kepdioio £20000 o £30000 avticTory o Kot COLPAOVNCAV VoL
dkoovvrat:
Jack Clark
Emoo webd £18000 £22000
Toéxo kepaiaiov (emoing) 10% 10%
Mepidio amod ta evoamopeivavta képdn N e 40% 60%
Av 10 KEpSOG NG Ypovidg Mtav £40000, 1660 GLVOAIKA dikaovTAL VO TAPEL O
Clark;
A KaBOAOL
B £3000 ypewotiKod
r £22000 motmtikd
A £24000 moTmTikd
13. Frequently, when there is a change of partners in a partnership, assets are
revalued because ...
A this is a requirement of the Partnership Act 1890
B it helps prevent financial injustice to some partners
C inflation affects all values
D None of the above
13. Xuyva, OToV VIAPYEL L0 OAAOYT] CUVETOIPOV GE [0 TPOCMIIKY| ETOIPELN, TO

TEPLOVOIAKA OTOLYELD EMAVEKTILOVVTOL O10TL ...

ovto 1o anortel o0 Nopog tov [pocomikav Etapuoy 1890
eUmodilel TNV OKOVOLIKY] 001KI0L OPLOUEVOV CUVETAIPOV

0 mTinBopiopog ennpedlel Odec Tig aieg

KavEVa 0o TO TLO TOVE
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14. The rule in Garner V Murray states that, subject to any agreement to the
contrary, one partner’s deficiency is to be shared by the other partners.
A in the ratio of their “last agreed capitals”
B in their profit and loss sharing ratios
C in the ratio of their original capital
D none of the above
14. O xavovag «Garner V. Murray» dnAd@vel 011, Tapd Vv mtepi Tov avtiféton
GLUPMViD, TO EAAELLLO EVOG GUVETAIPOL TPEMEL VO KOAVEOEL amd Tovg GAAOVG
GLVETAIPOVG ...
A pe Béon v ovadoyio TV TEAELTAIOV KEPAANI®OY TOVG
B pe Béon v avadoyio LEPICHOD TV KEPSOLN LDV
r pe Béon v avadoyio Tov apyiKov KEQAANimV TOVg
A Kavéva and ta mo nive.
15. One disadvantage of limited company, relative to other forms of business
organization, is ...
A greater regulation
B the fact that the company’s liability is limited
C the fact that the company is legal entity, separate and distinct from its
owner(s)
D None of the above
15.  ’Evo pelovéktnua tng eTapeiog TEPLOPIGUEVNG EVOVVIG, e oYEom e GAAOVG
TOTOVG EUTOPIKDOV OPYAVICUDV, EVOL ...
A OTL &Y€l peyolvtepn vopobecio
B TO YEYOVOG OTL 1 €VOVVN NG eTaNPElnG EIvol TEPLOPICUEVN
r TO YeYovOg OTL M eTanpeio lval pio VOUIKT ovTtOTNTO EEXMPLOTN KOl
SloKpITn 0o TOLG O10KTNTEG TNG.
A Kavéva and to mo ndve
16. A company has declared a final dividend for the year ended 31 March and

proposed to pay it on 10 May. Which of the following is the correct treatment
of this item in the financial statements for the year ended 31 March?

A

B

Show the amount of the dividend as an expense in the profit and loss
account and as a current liability in the balance sheet.

Show the amount of the dividend as a deduction in the profit and loss
appropriation account and as a current liability in the balance sheet.
Show the amount of the dividend as a deduction in the profit and loss
appropriation account and reduce the bank balance shown in the
balance sheet accordingly.

None of the above.



16. Mo HETOYIKT| ETOLPELD AVOKOIVMOOE TEAMKO HEPIGHO Y10 TO £T0G TOL ANyet 31
Maoprtiov kot Tpoteve TNV Katafoin tov otig 10 Maiov.

[Toto omd o TapakdTe gival 0 0phog XEPIoUOS TOV TOGOV AVTOD GTIG

OIKOVOUIKEG KATOOTAGELG TOV £T0VG oL Afyetl 31 Maptiov.

A Na dei&ovpe 10 1066 TOV UEpicHATOC MG Eva €000 GTO AOY/GLO
Amoteréopota Xprong kot o¢ Eva Bpayumpdbeco modntikd ctov
Iooloyiouo.

B Na deiEovpe 10 TOGO TOV PEPIGLATOC MG 1A OPAIPEST) OTO AOY/GUO
AvdBeong Kepdmv xat og éva Bpoyvmpdbeciio nabntikd otov
Iooloyiopo.

r Na deiEovpie 10 TOGO TOV PEPIGLATOC MG K OPAIPEST) OTO AOY/GUO
AwdBeong Kepdmv kot g pia peiowon tov vroAoinov g Tpanelog mov
eppaviCetar otov Icoroyiouo.

A Kavéva and ta mo nive.

17. A company wishes to pay the maximum possible ordinary dividend in respect
of a year during which it earned a net profit, after tax, of £26600. The
company has issued 20000 £1 8% preference share and 50000 £1 ordinary
shares. If £5000 is to be transferred to the general reserve, what ordinary
dividends are to be paid, in percentage terms?

A 10%

B 20%

C 40%

D 60%

17. M petoyikn etoipeio emBupel vo TANPOGEL TO LEYOADTEPO SLVATO KOO
UEPIOUO GYETIKA LLE TO £TOC KATA TN SIGPKELDL TOL OTOI0V TPOLYLOTOTOINCE
KkaBapo k€Pdoc, Letd ) poporoyia, £26600. H etaipeia xetl exdmoer 20000
£1 8% mpovopovykég petoyég kot S0000 £1 cuvnbeic petoyés. Av mocd
£5000 B mpémer vo petapepbel 6T0 TOKTIKO AmofEATIKO, TO10 KOWO UEPIGLLO
0o Tpémel va TANPADCEL, GE TOGOGTO;

A 10%

B 20%

r 40%

A 60%

18. A limited company’s revenue reserves increased from £15000 at 1 January to

£31000 at 31 December. If the company earned a profit for the year of
£27000, after tax, dividends for the year were:

A £4000

B £11000
C £12000
D £45000



18. Ta anoBepotikd kepSOV oG HETOYIKNG eToupeiog avénonkay and £15000 wov
nrav v 1 Tavovapiov og £31000 v 31 Aekeufpiov. Av n etarpeia
TPOYUOTOTOINGE ETNG10 KEPDOG UETA TN @oporoyia £27000, ta pepicpoTo TOV
£T0VG NTOV:

A £4000

B £11000
r £12000
A £45000

19. The balance on the profit and loss account, as shown in the balance sheet of a
company, represents ...

A any profit earned by the company during the most recent accounting
period.

B the cumulative profits earned by the company since the date of its
incorporation, less any losses, dividends, or transfers to reserves.

C money set aside for specific future uses.

D money available for daily operations.

19. To voroimo tov Aoy/cpod AmotelespdTmv Xpnong, Onws epeavifeTol oTov
IooAoylopd pog PETOYIKNG ETOLPIOC, OVIITPOCMOTEVEL .. .

A K€ KEPOOG TOV TPAYHUOTOTOEL 1] ETALPELN KATA TN SIAPKELD TOV TTLO
TPOCPATOV AOYIGTIKOD £TOVG.

B T0 GVOCcOPELVBEVTO, KEPON TTOV TPAYUOTOTOINGE 1) ETOUPi OO TNV
nuepounvia idpvong g, peiov tig iuigs, ta pepicpata N Tig
UETAPOPEG OE OMOOEUATIKA.

r YPNLOTO TOV TOPUKPOTOVVTOL Y10 GUYKEKPLLEVOLS LEAAOVTIKODG
GKOTOVG

A yPNHaTa S1obEcUa Yio KaONUEPIVES EpYOTiES.

20.  In the accounts of a limited company, the balance on a provision for
depreciation account ...

A is shown under the heading “current liabilities”.

B is shown under the heading “capital and reserves”.

C is shown as an appropriation of profit.

D is deducted from the cost or valuation of the related fixed assets.

20. 2T0Vg AOYOPLOGHOVG HOG HETOYIKNG ETALPLOG, TO VTOAOUTO TOV A0Y/GLOD

TPOPAeYN Y10 amocPECELS ...

eppaviCeton katw amd Tov titho «Bpoyvrpdbeopo [Mabntuco».
eppavifeton kKatw amd tov titho «Kepdhoto kot Amobepaticd.
eupavifetoar g pa d1abgom k€pdovg.

aQUIpETOL 0O TO KOGTOG 1) TNV 00 TV GYETIKMY TAYIOV OTOXEI®V.
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21. The total of the net assets of a company is equal to ...
A The nominal (par) value of the company’s share capital.
B The market value of the company’s share capital.
C The amount paid by shareholders for their shares.
D The book value of the shareholders’ interest in the company.
21. To ovvoro Tov Kabapod Evepyntikov pog petoyixng etoipiog ivot ico e ...
A Tnv ovopaotiky (6to0 Gptio) a&io ToL PETOYUKOD KEQPAAOIOV TG
gToupetag.
B Tnv ayopaia a&io Tov petoykon KEPOAAiov TNG ETOPELNG.
r To 066 mov KatéPaAay o1 HETOYOL Y10 TIG LETOXEG TOVG.
A Tn Aoylotikn a&io TOL OIKOVOUIKOD GUUGEPOVTOG TOV UETOY®V GTNV
gToupetia.
22. In the accounts of a company, positive goodwill (when it exists) ...
A must be a debit balance
B must be a credit balance
C can be either a debit or a credit balance
D cannot exist
22. 2T0Vg AOYOPLOGHOVG OGS LETOYIKNG ETALpELRG, 1 «Y Tepa&ion (av vITapyE) ...
A TPENEL VO, EIvVOL EVa YPEMOTIKO VITOAOLTO.
B TPENEL VO, EIVOL VO TIOTOTIKO VTOAOITO.
r umopel va givat gite Eva Ype®OTIKO €iTE £VO, MOTOTIKO VITOAOLTO.
A dev mpémer va gppaviletat.
23. Shareholders’ funds in a company equals ...
A The total of share capital, reserves and long-term debts of the
company.
B the total of share capital and reserves of the company.
C the total of issued share capital and reserves of the company.
D the total of share capital and capital reserves of the company.
23. Ta 1010 KeEPAAOLO GE 0L LETOYIKT ETOUPELD 1GOVVTAL ...

A

B

LLE TO GUVOAO TOV UETOYIKOV KEPOAOIOV T®V ATOBEUATIKOV Kol TOV
LOKPOTPOBEGUMOV YPEDV TNG ETAIPEING.

LLE TO GUVOAO TOV UETOYIKOV KEPOAAIOV KOl TOV ATOOEUATIKOV TG
gToupeiag.

LE TO GUVOLO TOV €kD0OEVTOG KEQOANIOV KO TOV OTODEUATIKMV TNG
gToupeiag.

LLE TO GUVOAO TOV UETOYIKOV KEPOAOIOV KOl TOV KEPAAULUKDY
OmODEUATIKDOV TNG ETOLPEIONG.



24. Debenture interest in a limited company’s final accounts is charged in the:
A Trading Account
B Profit and Loss Account
C Profit and Loss Appropriation Account
D Can be either B or C
24, O 16K0¢ 0pOAOY1KOD SOVEIOV GTOVG TEAMKOVS AOYAPLUCUOVG UG ETALPEING
neploplopévng evbovng Papovet:
A To A/opd Expetdirevonc Epnopeopdrov
B To Alopd Amoteréopata Xpnong
r To Alopd AdBeonc Kepdmv
A Eivar dvvato 1o B 1 1o I Aoyaproopd
25. A credit balance brought down on a rent account means:
A We owe that rent at that date.
B We have paid that rent in advance at that date.
C We have paid too much rent.
D We have paid too little in rent.
25. ’Eva mototikd vmorouro €1¢ vEo Tov Aoyaplacpov Evoikia onpatvel ot

Opceilovpe T0 gvoiKlo OVTO G~ AVTH TV NUEPO.
[IpomAnpmdcapie T0 voiklo avTd G~ ALTY TV NUEPO.
[MAnpodcape moAd TeEPIGGHTEPO EVOIKIO.
[MAnpodcoape ToAd AydTEPO EVOIKIO.
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